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By 3% 4 Fn044£08 H 29 H eI Dt e/ 99 b (Biir)
fh 4 JE Hh & Wae | %K E=E i fiE T fE g2y ]

IENE AbE 10. 00| AHxf 140 1,400 2,322| 1,659 788
H X k¥ 15. 00 | ¥ 929 13,935 1,026 876 648
X 5D FiE 10. 00| AH%F 400 4,000| 1,048 798 648
E 9 NAE E B 4. 00| FH%f 40 160| 5,076| 4,973| 4,860
H % i 3. 00| FHxf 28 84| 1,836| 1,710| 1,566
i A ] 1L 1. 00| FHxf 180 180 648 549 432
= 1| 5.00 Mixk| 15 75| 2,160 1,944 1,620
A w5 5. 00 | FHx} 314 1,570 1,674 1,380 756
ENIE 0.50| #xt| 1,937 969  130] 03] 76
= m | 0.40| #Exf| 2,880 1,152 140 i 81
= =% 4. 00| AHxf 1,054 4,216| 2,376 2,012 1,296
[N 5 5. 00| FHxf 64 320 1,944 1,468 1,080
EN R 5.00[#A%k| 1,045 5,225|  2,052| 1,712 1,080
v—< = 0. 15| FHx} 4, 500 679 65 59 49
A7 k= b AbiEiE 3. 00| FH%f 486 1,458 2,700 2,361| 1,836
ot E AL E 0. 10| FH%f 80 8 140 135 130
= m | 2.00( FERF| 2l 04| o12| 738 432
H 7% w5 5. 00 | #H 5t 137 685 1,944| 1,666| 1,404
FEEnsE AbifEE 10. 00 | #H%f 640 6,400| 1,944 1,436 918
E F AbiEiE 10. 00| AHxf 120 1,200| 3,186| 3,114| 2,970
£ A L 10. 00 | ¥ 184 1,840 2,376| 1,999 972
LA £ ¥ 10. 00 | #H % 2, 160 21,600 1,728 1,078 648
=l & k¥ 4, 00| FH*} 590 2, 360 1,728 1,119 864
T AT % 0. 10| FH%f 1,553 157 135 59
Tayal— E B 4. 00| AH%F 154 616 2,916 2,776| 2,700

L xon A 4. 00 | FHxF 9 36 3,024
AMEE (i 0. 10| #Hxf | 4, 450 445 146 111 65
ZDEHE & % 0. 20 [ A%} 750 150 72 46 40
LU £ ¥ 0. 20 [ #H %} 150 30 81 59 54
AA fa—yv £ ¥ 5. 00 | #H %} 230 1,150 1,620 1,281 1, 080
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P g SR
ESR S TR = 1 =i Q1 IV NI )
RHE 4 Fn044£08 H 29 H eI Dt e/ 58 k> (Biir)
i 4 JE = Wae | %K F e T fE g2y ]

sk Fell 10. 00 | #H%f 710 7,100 4,536| 4,131 3, 240
oK w5 10. 00| AHxf 500 5,000 4,536 3,879 2,592
e i SR 10. 00 | ¥ 1, 966 19,660 6,642 6, 156
v A —3 ] 1L 2. 00| FH%f 76 152 1,728| 1,523 1,404
LR Foak 0. 30| FHxf 500 150 292 282 259
Avava 7 4 U E | 13.00| HH%F 10 130 2,484| 2,430 2,376




